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This exam relates to Scholastic Aptitude Test. foT \Rfprr fefion <t st FETI S |

It consists of questions related to Science,
Mathematics and Social Science.

Each question carries one mark. All questions
are compulsory.

You have been provided with an answer sheet
(OMR) for this question paper. Darken the
correct option of each question in the answer

sheet (OMR) with black/blue ball pen.

Rough work may be done on the blank space
provided for this purpose.

There is no negative marking in this test.
Do not use white fluid on OMR Answer Sheet.

Half an hour extra should be given to visually
impaired candidates only.
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10.

A person cannot sce objects distinctly kept
beyond 2m. This defect can be corrected by the
which type of the lens and of what power of its.

(1) Convex Lens,+0.5D

(2) Concave Lens, +0.5D

(3) Convex Lens,-0.2D

(4 Concave Lens,-0.5D

Action and Reaction according to Newton's third
law acton.

(1) Same body in opposite direction.

(2) Different bodies in same direction.
(3) Different bodies in opposite direction.
(4) Same body in same direction

A passenger, in a moving bus tosses a coin which
falls behind him. It means that motion of the bus

1§

Uniform

(1)

(2) Accelerated
(3) Retarded

(4) Circular motion

A current of 2 amp is drawn by a filament by an
clectric bulb. No. of electrons passing through a
cross section of the filament in 8 seconds would
be approximately.

(1 10" 2 107
3) 107 4) 10"
The voltage can be written as :
(1) Work done x charge » time
(2) Work done x time
Current
(3) Work done

Current * time

(4) Work done x charge

The strength of magnetic field inside a long
current carrying straight solenoid is :

(D Minimum in the middle

(2) More at the ends than at the centre

(3) Sameat all points

(4) Found to increase from one end to the

other.
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(1) 835837, +0.5D
(2) WEIHBEH,+0.5D
(3) g3m 85w, -0.2D
(4) MTISTB5H, -0.5D
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7. Who made the law for the security of forests in 72. 1855 €t. fTw vt & finr et fansd Tds g=®
1855A.D. ? A&? :

(1) LordDalhousie (2) Lord Cornwalis E;; s ﬁE ST Ei; s Seast
3) LordRippan (4) LordWellesley '

73. 'Safrej Movement' was related to which category 73. ‘HedaWo8s ANTH @ fan =9ar 5= Rafas /i?
of the society?

(1) Children @) Women o i S84 LA
(3)  Men (4)  Oldpeople CHE Loy WA S SR
74. Which Sikh Guru Sahib compiled 'Jap Sahib'? 74 . ‘AU RIT &t ausT fan gg Arfow & atat?
(1) ShriGuruNanak Dev ji (1) HtagassaeeH
(2)  Shri Guru Hargobind Rai ji (2) Higgoadfgeafest
(3)  Shri GuruGobind Singh ji (3)  Hg Jifde iyt
(4)  Shri Guru Teg Bahadur ji (4) HYIg3araoreg At
75. When did 'The treaty of Bhairowal' téke place? 75 . ‘Gg=vs St AUt o g7
(1)  24Dec.1846A.D. (1) 24THEJ 1846 ¥,
(2)  25Dec.1846A.D. (2) 25?1?8318469—1‘.
(3)  26Dec.1846A.D. (3) 26THET1846¥.
(4)  27Dec.1846A.D. (4) 27THET 1846,
76. When did Vietnam become a United Country ? 76. SPuIsH AT fed AU S gfemT?
(1) 15thApril 1974A.D. (1) 15m[B 19748 &
(2)  30thApril1975A.D. (2) 30mUT1975€. &
(3)  30thApril 1973A.D. (3) 30m®1973¢t. §
(4)  15thApril 1976 A.D. (4) 157U®19769. &
77. Karl Marx was against : 77 . IS IR faAe fusT= /it?
(1) ~ Democracy * = (2): Capitalism (1) BaIITe (2) Urteree
(3)  Communism (4)  Socialism . (3) AyEmWEEE (4) AHWeEEd
78. Who was 'Giuseppe Mazzini'? 78. ‘fargfdt watat d= Ft?
(1)  AnlItalian Economist (1) feesterngagmzt
(2)  AGerman Nationalist : ; (2) TOH&ITTIHeIS!
3) A German Professor (3) WOHE T USHT
(4)  Anltalian Nationalist (4) . feesteraHeg=Tet

79. Which among the following cities is hub of the 79. 35 fefipnt f&F eliyd erarg faoarafaa 37
new print culture.

O s @ T e, e
(3) Shanghai 4) Chicago
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